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End of year
Sh."OOO"
4,000
4,500
2.800

Balances as at
Beginning of year

Sh."OOO"
1,000
1,500
1,200

Finished goods stock
Accounts receivable
Accounts payable

(b) The following balances were extracted from the books ofUshauri Ltd. for the year 2020:

(8 marks)
QU ESTION TWO
(a) Describe four factors to be taken into account in the design ofa firm's credit policy.

(ii) Explain two reasons why Kopex Ltd. could prefer to use market weights instead of book value weights in
the computation of the weighted average cost of capital. (4 marks)

(Total: 20 marks)

(8 marks)
Required:
(i) Kopex Ltd.is market weighted average cost of capital (MW ACC).

Additional information:
I. The ordinary shares are currently trading on the securities exchange at Sh.75 per share.
2. The ordinary dividend for the previous financial year was Sh.I 0.60 per share. The dividends are expected

to grow at an annual growth rate of 8% for the foreseeable future.
3. The preference shares have a current market value of Sh.20 per share.
4. The debentures are irredeemable and have a current market value of Sh.I.080 per Sh.I.OOO nominal value.
5. Corporation tax rate is 30%.

Sh."million"
1.920
1,440
960

~J.4Q

Ordinary share capital (Sh.20 each)
12% preference share capital (Sh.20 each)
9% debentures

(c) Kopex Ltd.'s capital structure is as follows:

(b) Summarise two advantages of the internal rate of return (lRR) method used in evaluation of the viability of an
investment project. (4 marks)

(2 marks)"Bonus issue" and "rights issue".( ii)

(2 marks)"Quoted companies" and "unquoted companies".(i)

QUESTION ONE
(a) Distinguish between the following sets of terms as used in financial markets:

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your
workings.

Time Allowed: 3 hours.TUESDAY: 18 May 2021.

FUNDAMENTALS OF FINANCE
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2. The company's cost of capital is 10% per annum.

4
5

3

I
2

Project Y
Sh.

400,000
900,000
800,000
700,000
600,000

Project X
Sh.

200,000
600,000

1,200,000
900,000
500,000

Year

I. The projects will generate the following annual cash inflows:

The following information relates to the two projects:

(b) Kenvit Ltd. is considering investing in one of the following two projects X and Y, which require an initial cash
outlay of Sh.2,200,000 each. Each of the projects has an estimated productive life of five years.

(8 marks)
QUESTION FOUR
(a) Outline four differences between "Islamic banking" and "conventional banking".

(iii) Advise the company on the dividend policy to adopt based on your answer in (c) (i) and (c) (ii) above.
(2 marks)

(Total: 20 marks)

(3 marks)

(ii) The optimal total dividend payable and dividend per share assuming the firm adopts a 50% payout ratio
policy.

Required:
(i) The optimal total dividend payable and dividend per share assuming the firm adopts a residual dividend

pol icy. (3 marks)

Additional information:
I. The firm's management has established that acceptable investment proposals of Sh.6,OOO,OOOrequire

financing.
2. The firm currently adopts a residual dividend policy.
3. The number of issued ordinary shares is 10,000,000.

(c) Maize Mills Ltd. expects to generate net income of Sh.1 0,000,000 in the current financial year.

(6 marks)Explain three reasons why organisations prefer retained earnings as a source of finance.(b)

(6 marks)
QUESTION THREE
(a) Explain three areas where the concept of time value of money might be applied.

(6 marks)
(Total: 20 marks)

Required:
Loan amortisation schedule for Kevin Machokah.

(c) Kevin Machokah obtained a loan of Sh.l ,200,000 from a commercial bank at an interest rate of 12.5% per annum.
The .Ioan is to be repaid in equal semi-annual installments over a period of 3 years. The loan interest is to be
amortised on a reducing balance basis.

(6 marks)
Required:
The firm's working capital operating cycle for the year 2020.

Additional information:
l. The firm's sales and cost of sales are Sh.20 million and Sh.15 million respectively. 80% of the firm's sales

are credit sales.
2. All purchases of stock are on credit basis.

(Assume that a year has 360 days).
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(4 marks)
(Total: 20 marks)

The standard deviation of the return.(ii)

(2 marks)
Required:
(i) Expected rate of return of the company's shares.

ProbabilityEconomic conditions Forecasted share price
Sh.
120
130
140
160

0.30
0.40
0.20
0.10

High growth
Low growth
Stagnation
Recession

(d) John Kim purchased shares of Barbex Ltd. at the beginning of the year at Sh.125 per share. The forecasted price per
share at the end of the year and the probability of its occurrence in different economic conditions are given as
follows:

(2 marks)Explain the term "unique risk" as used in finance.(c)

(4 marks)Summarise four benefits of regulating financial markets in your country.(b)

(8 marks)
QUESTION FIVE
(a) Explain four conflicts that could arise in the course of achieving a finn's objectives.

(4 marks)
(Total: 20 marks)

Profitability index (PI).(ii)

(8 marks)Net present value (NPV).(i)

Required:
Advise the management of Kenvit Ltd. on the project to undertake based on the following investment evaluation
methods:
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Period 1"0 2'" 3... 4% 5% 0% 7"'~ at.. "'" 1"" 11% 12'>, 1)(", 14t:·" 15".~ h\~. 2~'~ 24~'t 25... 30(;0, O.ml O.bl3Q.4 0.9709 I 0.96'5 0.952' O.94J4 0.9346 0.9259 0.9174 0,9(191 O.90W 0.8929 0,81J50 0.8772 0.8696 0.8621 O.83)J 0.8065 0.8000 0.7692
2 1.9704 1.9416 1.9135 1.8861 1.8594 1.tl})J '.808Q 1.7833 1.7591 1.7355 1.7125 1.6901 1.6681 1.6461 1.rl2S7 1.6052 1.5278 '.4~ 1.44(h) 1.JIJi.'9
3 2.9-*10 2.8839 2.8286 2.7751 2.7232 2.6730 2.6243 2.5771 2.5313 2.4~69 2.4437 2.4018 2.)612 2.3216 22832 22459 2.1065 '.9913 1.951Q 1.8161
4 3.902'Q 3.S077 3.1171 3.6299 3.5'6<1 3.4651 3.3872 3.3121 3.2397 3.1699 3.1024 ).0)73 i.~J745 2.~137 }.8S50 2,7982 2.5887 lAO!3 2.3616 2.1662
5 4.6534 4.7135 I 4,5797 4.4518 •. )295 4,2124- 4.1002 ),9927 3.6397 ),7906 3.6959 3.604B 3.::'172 3.4331 }.)522 3214) 1.99(!fj 2.7454 1.6893 2.435f.
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8 7.6517 7.3255 7.0197 6.7317 6.4631 6.2096 5.9113 5.7<66 5.5348 5.3349 5.1461 4.9676 4.7988 4.6389 4.4S7J 4.)4.36 3.8]72 ) ....212 3.3289 2.924.7
9 9.5660 8.1622 7.1&61 7,4353 7,1078 6.8017 6.5152 6,2469 5.9952 5.1590 5.5370 5.3282 5.1317 4.9464 4.7716 4,6065 4.0310 3.5655 J.46J1 3.0190
'0 9.4713 8.98)6 6.5302 8.1'09 7.7217 7.3601 7.0236 6.7101 6.4177 6.1446 5.8892 5.0;s02 5.'262 5.2161 5.0189 4,8332 4:1925 s.sais 3.5705 3.0915

f----I----
" 10.368 9.7WJ 9.2526 8.76<15 8.3W4 ! 7,8869 7.4987 1.1390 6.0052 6.4951 1).2(J~5 5.9377 5.6il6' 5.4527 5.;0337 1.026' 4.3271 3.7757 3.65.;4 3.1473
12 1t,255 lM75 9.9540 iUS-51 8,8633 8.3838 I 79427 7.5)';;1 7.1607 6.8137 1).4~14 6.1944 5.9176 5.i;fj{)3 5.4200 5.1(171 4.4J92 3.3514 3.1251 3.1903
13 1l.134 11.34a 10.635 9.9856 9.3936 8.8527 8.3577 7.0038 7.4%9 7.HJ34 6.7.;$~ 6.4235 6,t218- 5.8424 5.~3' 5,3423 '.53il ).9124 3.7901 3.121},. 13.004 U.100 11.296 10.563 !:U!98~ 9.2950 8.1-455 8.2441 1.1862 7.3667 6.9819 6.6282 6.J()25 1l.1YJ}1 ~:~~*-S.4oii'5 4.611.\6 }.9616 3.8241 3.248-7
15 13.865 12.849 11.938 '1.118 '0.380 9.7122 9.~079 8.5595 8.0607 7.G061 7.1909 6.8109 6.4fj1" 6.1422 ').51S~ 4.6755 4.00n 3.8593 3.2682

16 14.718 13.578 12.561 11.652 'O.6Jl! 10.106 9,4-466 885" 8.31~ 7.8237 7.3792 6.97.0 6.0039 9.21551 5.9542 5.WJ5 4.72% ".OJ}) 3.~874 3.2832

" 15.561 1.1.292 13.166 12.166 "c~ ~~L. 9.7iiJ2 9.1216 85435 8.0116 7.54Q8 1.1196 6.7291 6.37.(9 6.0471 ...5.H87 4.7746 4.0591 3.!'099 3.19.t8
,8 16.)98 14.992 13.7s& 12.659 11.690 10.818 10.059 9.3719 8.7556 8.2014 7.1016 7.2497 6.8399 6,4674 6.1280 5.8178 4.8121 ....0799 3.9219 3.3037
'9 11.226 15.67B 14.324 n.1J4 12.085 1'.158 '0.)36 9.6636 8.9501 8.364£1 7.8393 7.3658 6.9380 6,5504 G.1982 5.8775 4._8435 4.0961 3.9424 3,}105
20 18.~ '6.351 14.877 13.590 12.~2 11,470 10.594 9.8181 9.1285 8.5136 7.9633 1.4694 7.0248 6.623' I 6.2593 5.9288 4.8696 4.'103 3.9539 3..3158

21 16.857 17.0'11 15,415 14.029 12.821 1'.7f.4. 10.836 10.017 92922 8.t)..!.S7 8,0751 7.5620 7.1016 66a70 5.3125 5.9731 4.8913 4.1212 3.96"}1 3.3198
22 19.660 17.1>5a '5.9J7 14.451 13.163 U.042 11.061 10.201 g.u24 8.7715 8.H57 7.6446 7.16£15 6.7429 6.3587 6J)11) .l.90~4 4.1)00 J.9705 3.3230
23 20.456 18.292 16.444 14.857 1),489 12.303 1'.272 10.371 9.58u2 R8832 8.2664 7.7184 7.22<J7 6.7n1 639il8 6.o.w) 4.9145 4.1371 3.971)4 J.J1S4
24 21.243 ,a914 H3.930 15.241 13.799 12.550 11.469 10.529 9.7066 1I.9a41 8.3'81 1.7843 7.2829 6.BJ5' 6.4338 6.0726 4.9]71 4.1428 J.9811 J.J272
25 22.023 19.5-23 11.413 15,622 14.1)9.1 12.783 11,654 10.fi75 9.8226 90710 8,4217 7.8431 7.3300 6.8729 6,46.$1 6.0971 -4.9476 4.1474 3.9849 3.3286

JO 25.808 22.396 19.600 17.192 15.372 13.76-5 11.409 11.258 10.274 9.-4269 8.6938 B.0552 1.4!l57 7.0027 6.5660 6.1772 ....9789 4.1601 3.9950 3.3321
35 29.4t)9 2'.999 21.487 '8.665 16.314 14.498 12.948 ".655 1('1.567 9."'2 8.8552 8,1755 7.5Il56 7.0700 6.6166 6.2153 4.9915 4.1644 ).9984 3.333"~ 30.'06 25.489 21.832 18.9Il8 16.547 '''.tl.21 1J.()35 11.717 10.612 9.6765 8.87.6 8.1924 7.5979 7.0790 6.6231 6.2201 4.9!129 4.1649 3.9987 3)331
40 12.835 21.355 23.115 19.793 17.1~ 15,Q.f.? 13.)32 11.925 '0.757 9.7791 8.9511 8.2'38 7,634" 7.,05(} 6(;.116 6.2335 ,.9966 4.1659 3.99Y5 3.3332
50 )9.196 )1.424 25.7~ 21..t-S2 18.256 15,762 1).801 12.233 10.962 9.9149 9.040' 6.~5 1.6752 7.1327 6.6605 6.2463 '.9995 4.1666 3.9999 3.333)

PVIFA r. n = [1- 1/ (1+r) nJIr

Present Value Interest factors for Annuity of 1 Discounted at r Percent for n Periods:
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PVIF r. n= 1/ (1+r) n = (1+r)"n

Present Value Interest factor of 1 Received at the End of n Periods at r Percent:
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